[ Efficiency vs vertpos |
- 05

20.45
4
2 04
(8]
$0.35
0.3
0.25
0.2
0.15
0.1
0.05
L0f

...........................................

.............................................

ettic

...................................

I-@-IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
N

Ratio

L

- AN L

1072 10 1 10 0?
TP vertr (cr%)

MKEIT_T 1base

mkFit_TT _retrainOldFiles125_v2_prelimWP_5iter
mkFit_TT_baseline_6iter

mKkFit_TT RetrainV2_WP1_6iter

<4

DQ
DQ
Efficiend —— B3

0.8

N C
o - : : : : :
> 0.7 R AR RREE Brrreengeeeeas PREREEEE
2] _ . . . . -
z E : : : : :
& 0.6F------ CERREERD REPEES Beeeenee RREEPLE CERTERD
c o : : : : :
[} o : : : : :
(8] ... L L (R
g OSp
o E : : : : :
R SIS S S SR
e T e
T

S et s S S

s F o \AVITGTeE
O LIt HtE------- peoeee
SN 1 1 11 o

%535~ =30 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
2y
c0.06
@
o
£0.05
5}
0.04
0.03
0.02
0.03

N

&
W
A TETTIL R TR TR L L LR R LTy
_*_‘__h- T
it
- —

Ratio

EI o O

IRAARNRAREN LERR
b
U
5 . -
T -
e f
T v

1

o
©

5 10 15 20
Sim. PV z (cm)

|
=
o

|
(¢



	Contents
	Page 1


